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Test
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An AMC quiz generated from moodle XML questions

export

Question 1 Explain in few words the aim of this course. OK F

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Question 2 a link here and an image and an equation
∫
2π
x2dx

centered text

�ush left text

�ush right text

In moodle editor, there is also exponent and
indice and thatand svg �le

This is one italic wrong answer.

This a wrong strong answer.

This a wrong emphasis answer.

This a wrong bold answer.

This is the good underlined answer.

y Pour votre examen, imprimez de préférence les documents compilés

à l'aide de auto-multiple-choice.
y

https://github.com/nennigb/amc2moodle
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Question 3 Test html table conversion to tex

weight width length

sys1 1 kg 0.35 m 1 m

sys2 2 kg - 1.5 m

table legend

an other table, more simple

Firstname Lastname Age

Jill Smith 50

Eve Jackson 94

wrong answer

the good answer is obviously a weird table

stu�1 stu�2

x2 bold text

Question 4 Provide a description of a problem that can be common to several questions. It

is useful to de�ne notation, pictures, equations
∫ 1

0
xdx = 0...

Question 5 Find x such 2x− 300 = 0 ? Here x is an integer, test for exact match, only.

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

Question 6 Give an approximated value for π up to 3 digits?

0 1 2 3 4 5 6 7 8 9

.

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

Question 7 Let z = 3 + 2i. What is the imaginary part ?

0 1 2 3 4 5 6 7 8 9

Question 8 Give an approximated value for
√
2 up to 3 digits ?

0 1 2 3 4 5 6 7 8 9

.

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

0 1 2 3 4 5 6 7 8 9

y Pour votre examen, imprimez de préférence les documents compilés

à l'aide de auto-multiple-choice.
y


